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. Page 21: The 5" expression under SOLUTION should be modified to read as
follows:

5. A valid expression in most branches of mathematics, however, in mechanics
such relations may not arise. If they do, they are invalid because they violate the
form-invariance under a basis transformation (every component of a vector cannot
be the same in all bases).

. Page 33: Eq. (2.4.5), the superscript on x should be subscript to be consistent with
Figure2.4.1
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. Page 34: Eq. (2.4.12), in the 2™ row, the vectors e i e’ should be A and

Al respectively

Ai = gijAj, Ai = gijAj (2412)
. Page 45: Add the word “isotropic” between “fourth-order” and “tensor” to the
text just above Eq. (2.5.19) [“... of every fourth-order isotropic tensor C can be
expressed as’ |
. Page 67: 2" line from the bottom, add “2” to the second expression of the
temperature.
. Page69: Thereisnoerror herebut only an explanation to thereaders.
Two types of gradients are used in continuum mechanics books: forward and
backward gradients. Most readers miss to note the difference unless they are
careful to check it operationally. The forward gradient is the usual gradient
ou .
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The backward gradient is
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which is often used (without explanation) in defining the deformation gradient
tensor and vel ocity gradient tensor.

In the present book only one gradient operator, namely forward gradient operator
(without the arrow), is used. To make it explicit to the reader of this book,
transpose of the forward gradient is used to denote the backward gradient. Thus,
the definition of F used here is the same as that used in other books but expressed
using the forward gradient operator (without using an arrow over the del operator).
We note that
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Vix=E, E(xiei) = E(EJei) =x, /E,e =F E e = F".
Page 72: In Figure 3.3.2, L should be the length of the reference configuration

and | should be the length of the current configuration (without using =A4).

Page 77: When ¥ =1, Mathematica evaluates the integral to be 3zbh.

Page 78:

e Replace the words*“ The transpose of C isdenoted by B anditiscaled...” at
the top of the page with “The left Cauchy-Green deformation tensor, or
Finger tensor, B, isdefined by”

e Thetext right below Eq. (3.4.9), change “left” to “right” .

e 4Mlinebelow Eq. (3.4.9), add | toread | # J (I ismissing).

Page 79: In the footnote, add hat to the second bold symbol E.
Page 80: The text above Eq. (3.4.16), remove the text inside () because

A =2-1=E =3P -D=1U1-DA+D)=1A(A +2) =LA+ A,
Page 81: Eg. (3.4.19), add “cos’ on the left side of the equality. Also, in the text
below this equation, replace y,and y,with 4, and 4, , respectively.
Page 83:
e Referenceto Figure 3.4.3in Part (a) of solution in Example 3.4.2 should be

changed to Figure 3.4.4.
e Theinverse mapping should be

Xy =1+ % -%,)

1
X, :§(ZX2 =7)

3
Therefore the column vector should read —%{7} and the inverse mapping should

read
) = (<147, —x,)E, +%(—7 1 2x B, + 2,8,

Page 84: The values of the Green strain tensor in part (d) should be divided by 2:
10 3 110 9
413 7 419 -4

Page 91.

e InEgq. (3.5.8), changethesigninfront of Qtominus(=¢e-Q).

e Add minussign to the right hand side of the equality in Eq. (3.5.9):
=-1[Vu-(Vu)'] (3.5.9)

* Add%2to the definition of €, in Eqg. (3.5.10):

Qij = %(uj,i - ui,j)
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e Add minussign and remove ¥zin front of the matrix in Eq. (3.5.11) :

0 _912 _913 0 Q12 Q13
[Q]=- Q, 0 —Q,, | =| €2, 0 Qy,
Q13 Q23 0 _913 _923 0

e Thethird expression in the last equation on the page (without an equation
number) has bold face w; it should be light face.

u; =Q.x; =—€,®x, =—(XX®), or u=0mxx,

Page 96:

e Add transposetoVv inthethird line of the first paragraph of Section 3.6.1
[L=(Vv)'"].

e Add transpose to thefirst Vv, change plus sign to minus in the second
expression, and minus sign to plusin front of W in Eq. (3.6.1), as shown
below:

L=(Vv)' = %[(VV)T +Vv]-1[Vv - (Vv)'1=D+W, (3.6.1)

e Remove the minus sign after the equal sign in the expressions for W in Eq.

(3.6.3).

Page 97:

e Add another “d” to the second dx on the right hand side of Eq. (3.6.7).

e Make v boldface and add transpose to Vv in the second line of the paragraph
above Eq. (3.6.10) [L = (Vv)"].

Page 177: Add transpose to Vv in the last equation of the page[L = (Vv)']

Page 279: Add %2 to theright side of the equal sign in the two expressions of EQ.
(8.1.31) so that it is consistent with the definition of vorticity.

Page 280: Add %2 to theright side of the equal sign in the two expressions of EQ.
(8.1.32).

Page 329: Example 9.3.3, Last sentence of the problem statement of Example
9.3.3 should be modified to read “ Determine the load for the viscoel astic response
of the Maxwell and Kelvin models.”



